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Note: (@) Answer any 5 questions

(b)Marks are indicated against each question in square brackets,

system [1+1] {CO3,C04]

(ii) How least square helps to solve bad system of equati ns‘? [1][CO3]

(iii) How least square is related to solving system of. equ t;onét'by Gram Schmidt method?

[2] [CO3,C04]
Q2. (i) Find out the condition on D and ¥. ch P to be projection matrix.
Consider P = UD U™, [2]1[CO3]
101 [
(i1) [(1] 1 X=|1}, Fingl_:.ggt X veetor via orthogonal projection method. [3] [CO3,C04]

0 A

) 10
Q3. Find out the, Gram Schmldt orthogonalization transformation for column and row of [0 1}
g , , 11

[2.542.5] [CO3,C04]

Q4(1) Prov1de the algorithm and complexity: for Given Rotation of n cross m matrix with rank k.

[4] [CO3]
(it) Is R a valid rotational matrix under orthonormal transformation?
cosf 1 -sinf
R=E{ 0 1 0 [1][CO3]
sinf 0 cosd
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Q5. What is the difference between Psudoinverse and inverse? Compute the Psudoinverse for
3} [1+4] [CO4]

Q6. Provide the strategy for finding outlier by Gram Schmidt. How orthonormal part (Q) of
Gram Schmidt process could be justified as data visualization? [3+2] [CO3,C04]

Q7. Please rotate [ ] vector with 30 degree angle in every possible planes Why one shc?’tfgugrefer

%7 %
Given rotation to Gramn Schmidt for solving system of equations. [4;1*’{] [Q 3,604)
l& ? \%7 %,
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